

APPROXIMATE METHODS FOR GENERALIZED INVERSES OF OPERATORS IN BANACH SPACES*

Kuang Jiao-xun

(Shanghai Normal University, Shanghai, China)

Abstract

In this paper, we present the necessary and sufficient condition of convergence of several iterative methods for computing the generalized inverses of operators in Banach spaces. It is proved that the iterative methods converge to the generalized inverse of an Operator in Banach spaces if and only if these conditions are satisfied.

1. Introduction

In this paper, we will present the necessary and sufficient condition of convergence of the iterative methods for computing the generalized inverses of operators. Let X and Y be two Banach spaces, and $B[X, Y]$ be the Banach space consisting of all bounded linear operators from X into Y . $D(T)$, $R(T)$ and $N(T)$ denote the domain, range and null of T respectively. We assume that the closed subspace $N(T)$ of X has a topological complement $N(T)^c$ and the closed subspace $\overline{R(T)}$ of Y has a topological complement $\overline{R(T)}^c$. Thus,

$$X = N(T) \oplus N(T)^c, \quad Y = \overline{R(T)} \oplus \overline{R(T)}^c.$$

The above decomposition exists if and only if there exist projectors P and Q such that

$$PX = N(T), \quad QY = \overline{R(T)}.$$

In this case, Nashed ^[1] pointed out that the operator T has unique generalized inverses $T^+ \equiv T_{P,Q}^+$ ($T_{P,Q}^+$ implies that the operator T^+ depends on the projectors P and Q) such that

$$\begin{cases} D(T^+) = R(T) \oplus \overline{R(T)}^c, & N(T^+) = \overline{R(T)}^c, \\ R(T^+) = N(T)^c, & TT^+T = T, \quad T^+TT^+ = T^+, \quad \text{on } D(T^+), \\ T^+T = I - P, & TT^+ = Q|_{D(T^+)}, \end{cases} \quad (1)$$

where $Q|_{D(T^+)}$ is the restriction of Q on $D(T^+)$. In addition, T^+ is bounded if and only if $R(T)$ is closed in Y . In this paper, $R(T)$ is assumed to be closed. Then, we

* Received February 25, 1992.

obviously have

$$\begin{cases} X = N(T) \oplus N(T)^c, & Y = R(T) \oplus R(T)^c, \\ D(T^+) = Y, & N(T^+) = R(T)^c, & R(T^+) = N(T)^c \end{cases} \tag{2}$$

and

$$\begin{cases} TT^+T = T, & T^+TT^+ = T^+, \\ T^+T = P_{N(T)^c}, & TT^+ = P_{R(T)}. \end{cases} \tag{3}$$

From (3) we can easily obtain

$$\begin{cases} T^+P_{R(T)} = T^+, & P_{N(T)^c}T^+ = T^+, \\ TP_{N(T)^c} = T, & P_{R(T)}T = T. \end{cases} \tag{4}$$

2. The Newton-Raphson Iterative Methods

Theorem 1. *Let*

$$R_k = P_{R(T)} - TT_k, \quad T_{k+1} = T_k [I + R_k], \quad k \geq 0. \tag{5}$$

The sequence $\{T_k\}$ converges quadratically to T^+ if and only if

$$P_{N(T)^c}T_0 = T_0 \quad \text{and} \quad r_\sigma(R_0) < 1, \tag{6}$$

where I is the identity operator in Y , and $r_\sigma(R_0)$ is the spectral radius of R_0 .

Proof. Suppose condition (6) holds. Then we can show that $P_{R(T)}R_k = R_k$ and $P_{N(T)^c}T_k = T_k$, for any $K = 0, 1, 2, \dots$ [3]. Thus,

$$\begin{aligned} R_k &= P_{R(T)} - TT_k = P_{R(T)} - TT_{k-1} [I + R_{k-1}] \\ &= R_{k-1} - TT_{k-1}R_{k-1} = P_{R(T)}R_{k-1} - TT_{k-1}R_{k-1} \\ &= R_{k-1}^2 = \dots = R_0^{2^k} \end{aligned}$$

and

$$T^+R_k = T^+P_{R(T)} - T^+TT_k = T^+ - T_k. \tag{7}$$

Since $r_\sigma(R_0) < 1$, we have

$$\lim_k \|T^+ - T_k\| \leq \lim_k \|T^+\| \cdot \|R_0^{2^k}\| = 0.$$

Inversely, suppose $\|T_k - T^+\| \rightarrow 0$ as $K \rightarrow \infty$. Then,

$$\|R_0^{2^k}\| = \|TT^+ - TT_k\| \leq \|T\| \cdot \|T^+ - T_k\| \rightarrow 0.$$

or

$$r_\sigma(R_0)^{2^k} = r_\sigma(R_0^{2^k}) \leq \|R_0^{2^k}\| \rightarrow 0.$$

Thus,

$$r_\sigma(R_0) < 1. \tag{8}$$

From (5) and (8), it follows that

$$T_k = T_0 \prod_{i=0}^{k-1} [I + R_0^{2^i}] = T_0 [I + R_0 + R_0^2 + \dots + R_0^{2^k - 1}],$$

and

$$\lim_k T_k = \lim_k T_0 [I + R_0 + R_0^2 + \dots + R_0^{2^k - 1}],$$

namely

$$T^+ = T_0(I - R_0)^{-1},$$

or

$$T_0 = T^+(I - R_0) = T^+ - T^+P_{R(T)} + T^+TT_0 = P_{N(T)}cT_0,$$

and this completes the proof of Theorem 1.

Corollary 1. Let $X = H_1, Y = H_2$ be two Hilbert spaces. Suppose $T_0 = \alpha T^*$ and the scalar α satisfies $0 < \alpha < 2\|T\|^{-2}$. Then the iterative sequence

$$T_{k+1} = T_k [2I_2 - TT_k], \quad k \geq 0, \tag{9}$$

converges uniformly to the Moore-Penrose inverses T^+ . Here T^* is the conjugate operator of T , and I_2 is the identity operator in H_2 .

Proof. To prove Corollary 1, we need only to show that T_0 satisfies condition (6) and (9) is equivalent to (5). First of all, we notice

$$P_{N(T)^\perp}T_0 = P_{R(T^*)}\alpha T^* = \alpha T^* = T_0.$$

Hence, the first condition of (6) is satisfied. We will prove by induction that $T_k P_{R(T)} = T_k$ for any integer $k \geq 0$.

Since

$$T_0 P_{R(T)} = \alpha T^* P_{N(T^*)^\perp} = \alpha T^*,$$

we have

$$T_0 P_{R(T)} = T_0.$$

Suppose

$$T_k P_{R(T)} = T_k.$$

Then,

$$T_{k+1} P_{R(T)} = T_k [2I_2 - TT_k] P_{R(T)} = 2T_k I_2 - T_k TT_k = T_k [2I_2 - TT_k] = T_{k+1},$$

and this completes the proof of induction. Thus (10) becomes (5):

$$T_{k+1} = T_k [2I_2 - TT_k] = T_k [I_2 + P_{R(T)} - TT_k] = T_k [I_2 + R_k].$$

To examine the second condition of (6), we notice that the operator $P_{R(T)} - \alpha TT^*$ is self-conjugate in H_2 . Then,

$$r_\sigma(P_{R(T)} - \alpha TT^*) = \|P_{R(T)} - \alpha TT^*\| = \sup_{\|x\|=1} |\langle P_{R(T)}x, x \rangle - \alpha \langle TT^*x, x \rangle|.$$

Let $x \in H_2$,

$$x = x_1 + x_2 \in R(T) \overset{\perp}{\oplus} N(T^*).$$

Thus

$$\begin{aligned} \|P_{R(T)} - \alpha TT^*\| &= \sup_{\substack{\|x\|=1 \\ x=x_1+x_2}} |\langle P_{R(T)}x_1, x_1 \rangle - \alpha \langle TT^*x_1, x_1 \rangle| \\ &= \sup_{\substack{\|x_1\| \leq 1 \\ x_1 \in N(T^*)^\perp}} |\langle x_1, x_1 \rangle - \alpha \langle TT^*x_1, x_1 \rangle|. \end{aligned}$$

Consider the Hilbert space $\tilde{H} = N(T^*)^\perp$. Then the operator $\tilde{T} = TT^*|_{\tilde{H}}$ is self-conjugate in \tilde{H} . By (10), we have

$$\|P_{R(T)} - \alpha TT^*\| = \|I - \alpha \tilde{T}\| = r_\sigma(I - \alpha \tilde{T}).$$

Using the spectral mapping theorem, we obtain

$$r_\sigma(I - \alpha \tilde{T}) = \sup \{ |\beta| : \beta = 1 - \alpha \lambda, \lambda \in \sigma(\tilde{T}) \}.$$

But $\sigma(\tilde{T}) \subseteq (0, \|T\|^2]^{[4]}$ and $0 < \alpha < 2\|T\|^{-2}$. We conclude that

$$r_\sigma(I - \alpha \tilde{T}) < 1$$

or

$$\|P_{R(T)} - TT_0\| < 1.$$

Thus

$$r_\sigma(R_0) \leq \|P_{R(T)} - TT_0\| < 1,$$

and this completes the proof of Corollary 1.

3. Hypepower Methods and Euler-Knopp Iteration

Theorem 2. *Let*

$$R_k = P_{R(T)} - TT_k, \quad k \geq 0, \tag{11}$$

$$T_{k+1} = T_k [I + R_k + R_k^2 + \dots + R_k^{p-1}] \quad k \geq 0, \quad p \geq 2. \tag{12}$$

The sequence $\{T_k\}$ converges to T^+ with order P if and only if $P_{N(T)}cT_0 = T_0$ and $r_\sigma(R_0) < 1$.

Proof. The proof is analogous to the proof of Theorem 1.

Corollary 2. Let $X = H_1, Y = H_2$ be two Hilbert spaces, $T_0 = \alpha T^*$, and let the scalar α satisfy $0 < \alpha < 2\|T\|^{-2}$. Then the iterative sequence

$$T_{k+1} = T_k \sum_{i=0}^{p-1} [2I_2 - TT_k]^i \quad k \geq 0, \quad p \geq 2 \tag{13}$$

converges uniformly to the Moore-Penrose inverses T^+ with order P .

Theorem 3. *The Euler-Knopp iterative sequence*

$$T_{n+1} = T_n [P_{R(T)} - TT_0] + T_0, \quad n \geq 0 \tag{14}$$

converges uniformly to

$$T^+ = T_0(I - P_{R(T)} + TT_0)^{-1}$$

if and only if $P_{N(T)}cT_0 = T_0$ and $r_\sigma(R_0) < 1$, where $R_0 = P_{R(T)} - TT_0$.

Proof. From (14), we can show

$$T_n = T_0 \sum_{k=0}^n (P_{R(T)} - TT_0)^k, \quad n \geq 0. \tag{15}$$

Noticing (4) and $P_{N(T)}cT_0 = T_0$, we have

$$\begin{aligned} T^+ - T_n &= T^+ - T_0 \sum_{k=0}^n (P_{R(T)} - TT_0)^k \\ &= P_{N(T)}cT^+ - P_{N(T)}cT_0 \sum_{k=0}^n (P_{R(T)} - TT_0)^k \\ &= T^+TT^+ - T^+TT_0 \sum_{k=0}^n (P_{R(T)} - TT_0)^k \\ &= T^+ \left\{ P_{R(T)} - TT_0 \sum_{k=0}^n (P_{R(T)} - TT_0)^k \right\} \\ &= T^+ \left\{ P_{R(T)} - TT_0 - TT_0 \sum_{k=1}^n (P_{R(T)} - TT_0)^k \right\} \\ &= T^+ \left\{ (P_{R(T)} - TT_0)(P_{R(T)} - TT_0) - TT_0 \sum_{k=2}^n (P_{R(T)} - TT_0)^k \right\}. \end{aligned}$$

Since $P_{R(T)}TT_0 = TT_0$ and $P_{R(T)}^2 = P_{R(T)}$, we have

$$\begin{aligned} T^+ - T_n &= T^+ \left\{ (P_{R(T)} - TT_0)^2 - TT_0 \sum_{k=2}^n (P_{R(T)} - TT_0)^k \right\} \\ &\vdots \\ &= T^+ \left\{ (P_{R(T)} - TT_0)^n \right\}. \end{aligned}$$

Noticing the condition $r_\sigma(R_0) < 1$, we have

$$\|T^+ - T_n\| \leq \|T^+\| \cdot \|R_0^n\| \rightarrow 0, \quad n \rightarrow \infty.$$

In addition, the Neumann series

$$\sum_{k=0}^{\infty} (P_{R(T)} - TT_0)^k$$

converges uniformly to

$$(I - P_{R(T)} + TT_0)^{-1}$$

if and only if $r_\sigma(R_0) < 1$. Inversely, suppose

$$\lim_n T_n = \lim_n T_0 \sum_{k=0}^n (P_{R(T)} - TT_0)^k,$$

namely

$$T^+ = T_0 (I - P_{R(T)} - TT_0)^{-1}.$$

This implies $r_\sigma(R_0) < 1$ and

$$T_0 = T^+ (I - P_{R(T)} + TT_0) = T^+ - T^+ P_{R(T)} + T^+ TT_0 = P_{N(T)} cT_0.$$

This completes the proof of Theorem 3.

Corollary 3. Let $X = H_1, Y = H_2$ be two Hilber spaces. Suppose $T_0 = \alpha T^*$, and the scalar α satisfies $0 < \alpha < 2\|T\|^{-2}$. Then the Euler-Knopp iterative sequence

$$T_0 = \alpha T^*,$$

$$T_{n+1} = T_n [I_2 - \alpha TT^*] + \alpha TT^*, \quad n \geq 0,$$

converges uniformly to the Moore-Penrose inverses T^+ .

References

- [1] M. Z. Nashed, Generalized Inverses and Applications, 1976.
- [2] C. W. Groetsch, Generalized Inverses of Linear Operator, Marcel Dekker Inc., 1977.
- [3] Kuang Jiao-xun, Some approximate methods of operator generalized inverses in Banach spaces, *Journal of Shanghai Normal University*, No. 1, 1984.
- [4] Kuang Jiao-xun, Representations and approximation of Drazin inverses for a linear operator in Hilbert spaces, *Numerical Mathematics, a Journal of Chinese Universities*, No. 2, 1982.